OPENER STD 5 TERM 2 2020
MATHEMATICS
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MATHEMATICS

Time: 2 hours

l:

Whicl: is the place value of digit 0 in
4702367 @
A. Hundreds

C. Thousands

B. Tens
D. Thousands

Work out 90 + 237 + 2 780
A. 3007
B. 3107
C. 2907
D. 14 150 5

Write six hundred and six thousand and six
in symbols?
A. 66 006

B. 60066
C. 600 606 '

D. 606 006

1

21
Whal is = in it’s simplest form?

A.

C.

Ol W=

A 19 000
C. 19990

3 B 19,9,00 el

There were 460 003 locusts, 304 500 of ™

them were killed. How many locusts were
left?

A. 764 500
B. 155 500
C. 166 500

- D. 156 500
Find the quotent ¢::27 072 and 9.
A. 38 8. 308
C. 3008 D. 380
Find the next in the pattern
9,13,17,21,25,
A. 29 B. 4
C. 26

D. 31

| 10.

Find the length of a square whose
perimeter is 88cm.
1]
L]

== P=88cm =+
:. il
i
A. 44cm B. 484cm
C. 352em; D. 22c¢m

What is the H.C.F of 12, 18 and 362
A. 36 B. 6
@ STmeen, D.9

- 3.

14.

7
Take away 1—2 :from I

a7 -
Write 1000 as a decimal.
A. 0.037 B. 0.37
C. 37.1000 D37

What is the perimeter of the rectangle
below?

24cm
30cm
A. S54cm B. 84cm
C. 108cm D.168cm
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3 22. Weeks Days
15. Express 4 5 asan improper fraction. : -

8 2

L B —
Ci : D-l-3 A3. k3d--
- 23 : -3 . 3 weeks 3 days

B. 3 weeks 6 days
C. 4 weeks 3 days

16. What is the sum of all prime numbers D. 4 weeks 4 days

between 50 and 60? :
A 110 B. 168 23. What is the place value of digit 2 in 8.32?
C. 225 D. 112 A. ."OHCS.
e < B. Hundreds.
17. A numberisdivisible by6ifthe C. Tenths.
A. lastdigit is an even number. D. Hundredths.
B. number is divisible by both 2 and 3.
C. sum of'the digits is divisible by 9.- i %24- Complete the factor tree.

D. last digitis 6. 38

N

22

A. Reflex.
B. Obtuse.
C. Acute. ;
- D. Rightangle.

] B= - :
19. How many litres packets can be obtained 2
from 16 litres? £ 3 s - 3
A. 64 B. 4 ‘ C.-16 D1 Zaiol]
C.20 D. i2
e 26. Afarmer planted 45 seedlings in one row.
20. Work out: 3 ¢ Ifhe had 1 305 seedlings, how many rows
- did he plant?
3 3 A 21
e 6 . S B. 1260
4 p . g ;9350
. 7 D. C a o2
21. How many days are in the iast quarter of a a2 ag
leap year? 27. Findthemissing number. = 5—4
A 91 B. 90 A6 B. 9
C. 92 D. 89 C. 18 D.56
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28.- 34. A church bus carries 52 people. How many

people will 79 such buses carry?

A. 4108 B. 3 808
C. 3998 D. 131
|
35. Add: 25+13
- How many points of intersections are in 145 4
the figure above? A 3 15 B. 3 3
A S B. 1 ; ;
C. 4 D.3
§ €334 ey
29. Which of the following numbers is NOT a " :
prime number? 52 36. What is the approximate mass of a Std. 4
A 13 B.2 p pupil? ;
C. 23 D21 A. 30g B. 30kg
C. 300kg D. 90kg
30. Whatisthe L.C.M of 6,9 and 18? .
A3 BIE

ertc 1 44 as sum of two odd numbers.

B.84 + 60
“Dz72 + 72

C. 36

31. Write 19in Roman nuﬁéricals?
A. ZVIII B. XVIX
C. XIX D. XXI

32. Arrange the following fractxons from the

largest to smallest.
521 3§
6°3°2°4 :
53 3iadae l=2 335 ‘B'»’”O_ =
A. e T B. Tusies | Al C- 170 o
S22 351 =5 341
C. Fara D. 36’4 2 39. Which of the following sets of numbers is
divisible by 2 and 5 only?
33. How many cubes are used to form the stack A. 10,15, 25
bilow? : B. 28, 30, 45
; Pt T C. 36, 40, 50
D. 20, 60, 90
1 1
40. Complete 3 =
A. greater than
B. equal to
C. lessthan
A. 63 D. smaller than
B. %0
C. 30
D. 48
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41, Kate have v sweets while Matu have M 44. tlow many bottles of Krest were sold?

sweets. How many sweets do they have A2 3. 22
altogether? ¢ 16 D. 14
A M+V 9
BiV _ M! 45. How many more Krests than Sprites were
C.MxV’ sold?
. L A. 16 B. 4
- E=8 D.6
42. Change 5 000ct into shillings. -
, g 2: zgo ; : 46. Which type of soda is LEAST liked?
: C: Sh'S d 2 : A. Fanta B. Afia
i D. Sh. 5000 > g8 55 Kresf‘ D. Sprite

43. What is the time shown in the cock face

s 47. Which tally mark BEST represents Afia?
-3 OW? = %

n AR o i
o //2 #H11/

_Express 54 as af%roduc?fof its prime factors.

A. Twenty min gtesto ﬁoclock

B. Quarter past st 8 oclo glk

C. 40 mmutesas§3o ock.

44, Study the tablg

Type of
soda

|Fanta - 7%&7%7%4 Hqeaz : 50. Nametheangle
ce | gy | :
Sprite #E oo Q<

Cocacola 7%9(‘ 7%§L 10 a

Afia o g 10
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